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10. A relationship between T and L is given by the formula, 7' = — where % is
a constant. L

When L is doubled, what is the effect on 77
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	T is divided by 8
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	[image: image2.png]10. A weight on the end of a string is spun in a circle on a smooth table.

‘I'he tension, 1, in the string varies directly as the square of the speed, v,
and inversely as the radius, 7, of the circle.

(a) Write down a formula for T in terms of v and 7.

() The speed of the weight is multiplied by 3 and the radius of the string
is halved.

What happens to the tension in the string?




	1
	2

	Ans
	[image: image3.png]2
@ T ="
v

(b) Tension is multiplied by 18
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	[image: image4.png]9. The electrical resistance, R, of copper wire varies directly as its length,
L metres, and inversely as the square of its diameter, d millimetres.

T'wo lengths of copper wire, A and B, have the same resistance.
Wire A has a diameter of 2 millimetres and a length of 3 metres.
Wire B has a diameter of 3 millimetres.

What is the length of wire B?
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